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1. Introduction

 In the last meeting, the following open issues about UCI on PUSCH were shown in WF [1]. In this contribution, we provide our views to finalize simulation assumptions.
	RAN4#90 
UCI parameters
· Number of payload:
· 7 bits(part1=5bits, part2=2bits)

· One more payload size need to be added

· Option 1: [40] bits (part1 = 20 bits, part2 = 20 bits) 

· Other options are not precluded


2.
Discussion
In the last meeting, number of payload for UCI on PUSCH was discussed, and two test cases were agreed to be introduced. One is the payload size with a) 7bits including CSI part 1 = 5bits and CSI part 2 = 2bits, which was already agreed.  The other is the payload size with b) 40 bits including CSI part 1 = 20bits and CSI part 2 = 20bits, which was still under discussion and with square bracket. According to TS38.212 [2], if payload size is equal to and more than 12 bits, polar code will be used. Otherwise, CRC bits are not attached and payload will be punctured. 
From above observation, the test with a) 7bits can ensure performance of no CRC case. On the other hand, polar coded case should be confirmed in the test with equal to and more than 12bits. Therefore, as another payload size, equal to and more than 12 bits are reasonable to be selected. We are fine to define b) 40 bits for test condition of UCI on PUSCH.
Proposal 1: As payload size for UCI on PUSCH requirements, adopt 40bits (CSI part1 = 20 bits, CSI part2 = 20 bits)
	6.3.1.2
Code block segmentation and CRC attachment
The UCI bit sequence from subclause 6.3.1.1 is denoted by 
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 is the payload size. The procedure in 6.3.1.2.1 applies for 
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 and the procedure in Subclause 6.3.1.2.2 applies for 
[image: image4.wmf]11

£

A

. 
6.3.1.2.1
UCI encoded by Polar code
If the payload size 
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, code block segmentation and CRC attachment is performed according to Subclause 5.2.1. If (
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 is the rate matching output sequence length as given in Subclause 6.3.1.4.1.
If 
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, the parity bits 
[image: image13.wmf](

)

1

2

1

0

,...,

,

,

-

L

r

r

r

r

p

p

p

p

 in Subclause 5.2.1 are computed by setting 
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 to 6 bits and using the generator polynomial 
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 in Subclause 5.1, resulting in the sequence 
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 where 
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 is the code block number and 
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 is the number of bits for code block number 
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If 
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, the parity bits 
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 in Subclause 5.2.1 are computed by setting 
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 to 11 bits and using the generator polynomial 
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 in Subclause 5.1, resulting in the sequence 
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 where 
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 is the code block number and 
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K

 is the number of bits for code block number 
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6.3.1.2.2
UCI encoded by channel coding of small block lengths
If the payload size 
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, CRC bits are not attached.
The output bit sequence is denoted by 
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3.
Conclusion
In this contribution, we provide our views on the open issue about UCI on PUSCH. The following proposal is obtained.

Proposal 1: As payload size for UCI on PUSCH requirements, adopt 40bits (CSI part1 = 20 bits, CSI part2 = 20 bits)
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